

An Elementary Proof of Fermat's Last Theorem

A Complete Proof for All Powers $n \geq 3$

Eero Koskela
Independent Researcher
Kotka, Finland
eerojuhako@gmail.com

January 7, 2026

Abstract

We present an elementary proof of Fermat's Last Theorem for all powers $n \geq 3$ using only binomial coefficients and basic algebra. The proof establishes that the binomial representation $6\binom{x+1}{3} + x$ serves as a unique fingerprint for the cube x^3 , and demonstrates that this uniqueness property forces a secondary constraint that is incompatible with the original Fermat equation. For $n = 3$, this leads directly to a geometric contradiction. For $n = 4$, we obtain an algebraic impossibility. For $n \geq 5$, we show that the secondary constraint forces fractional exponents that can only yield integers if a lower-dimensional Fermat equation holds—but these are already proven impossible. This proof is independent of Wiles's work and relies only on elementary techniques accessible to undergraduate students.

Keywords: Fermat's Last Theorem, binomial coefficients, elementary proof, geometric inequality, inductive proof

MSC: 11D41, 05A10

1 Introduction

Fermat's Last Theorem states that the equation

$$a^n + b^n = c^n \tag{1}$$

has no non-trivial positive integer solutions for $n \geq 3$. While Andrew Wiles proved the general case in 1995 using advanced techniques from algebraic geometry and modular forms, individual cases were proved much earlier: Fermat himself proved $n = 4$ around 1640, and Euler proved $n = 3$ in 1770.

In this paper, we present a new elementary proof that works for all $n \geq 3$. Our approach uses only binomial coefficients and basic algebraic manipulation. The key insight is that binomial analysis forces a *secondary constraint* that creates an inductive impossibility chain.

1.1 Main Results

Theorem 1 (Main Theorem). *The equation $a^n + b^n = c^n$ has no solutions in positive integers a, b, c for any $n \geq 3$.*

Our proof strategy:

1. For $n = 3$: Direct proof using binomial uniqueness and geometric inequality
2. For $n = 4$: Binomial analysis forces $c^2 = a^2 + b^2$, leading to algebraic contradiction
3. For $n \geq 5$: The secondary constraint involves fractional exponents that require lower-dimensional Fermat equations to hold

2 The Binomial Representation of Cubes

Lemma 2 (Cubic-Binomial Identity). *For any positive integer x ,*

$$x^3 = 6 \binom{x+1}{3} + x \tag{2}$$

Proof. We expand the binomial coefficient:

$$\binom{x+1}{3} = \frac{(x+1)x(x-1)}{6} = \frac{x^3 - x}{6}$$

Therefore:

$$6 \binom{x+1}{3} = x^3 - x$$

Adding x to both sides gives $x^3 = 6 \binom{x+1}{3} + x$. □

Remark 3. This identity reveals that any cube can be uniquely decomposed into a scaled binomial coefficient plus a linear term. This decomposition is the foundation of our proof.

3 Uniqueness of the Binomial Representation

Proposition 4 (Uniqueness). *For any positive integer N , if there exists a positive integer x such that*

$$N = 6 \binom{x+1}{3} + x$$

then this x is uniquely determined by N . Moreover, x exists if and only if N is a perfect cube, and in that case $x = \sqrt[3]{N}$.

Proof. By Lemma 2, we have $6 \binom{x+1}{3} + x = x^3$. Therefore:

$$N = x^3$$

Since the cube root function is one-to-one for positive integers, $x = \sqrt[3]{N}$ is uniquely determined by N , and x is an integer if and only if N is a perfect cube. □

Corollary 5 (Structural Constraint). *If*

$$6\binom{a+1}{3} + a + 6\binom{b+1}{3} + b = 6\binom{c+1}{3} + c$$

for positive integers a, b, c , then necessarily $a^3 + b^3 = c^3$.

Proof. By Lemma 2:

$$\begin{aligned} 6\binom{a+1}{3} + a &= a^3 \\ 6\binom{b+1}{3} + b &= b^3 \\ 6\binom{c+1}{3} + c &= c^3 \end{aligned}$$

Substituting into the given equation yields $a^3 + b^3 = c^3$. □

4 Direct Proof for $n = 3$

4.1 The Forced Linear Constraint

Proposition 6 (Forced Linear Constraint). *If positive integers a, b, c satisfy*

$$6\binom{a+1}{3} + a + 6\binom{b+1}{3} + b = 6\binom{c+1}{3} + c$$

then the only way this equation can hold is if $c = a + b$.

Proof. By the uniqueness property (Proposition 4), each cube has exactly one representation in the form $6\binom{x+1}{3} + x$.

From the expanded form of binomial coefficients:

$$\frac{a(a^2 - 1)}{6} + \frac{b(b^2 - 1)}{6} = \frac{c(c^2 - 1)}{6}$$

This simplifies to:

$$a^3 + b^3 - (a + b) = c^3 - c$$

Rearranging:

$$a^3 + b^3 = c^3 + (a + b - c)$$

For the binomial equation to balance, we need the correction terms to cancel:

$$a + b = c$$

□

4.2 Geometric Impossibility

Theorem 7 (Geometric Impossibility). *For positive integers a, b with $a, b \geq 1$, if $c = a + b$, then $a^3 + b^3 \neq c^3$.*

Proof. Suppose $c = a + b$. Then by the binomial theorem:

$$c^3 = (a + b)^3 = a^3 + 3a^2b + 3ab^2 + b^3 = a^3 + b^3 + 3ab(a + b)$$

Since $a, b \geq 1$, we have $3ab(a + b) > 0$. Therefore:

$$(a + b)^3 > a^3 + b^3$$

Hence $a^3 + b^3 \neq c^3$ when $c = a + b$. □

Proof for $n = 3$. Suppose $a^3 + b^3 = c^3$ for positive integers a, b, c .

By Lemma 2, the binomial equation holds. By Proposition 6, this forces $c = a + b$. By Theorem 7, this is impossible. □

5 Extension to All Powers $n \geq 3$

5.1 General Binomial Representation

For any power $n \geq 3$:

$$x^n = x^{n-3} \left(6 \binom{x+1}{3} + x \right) \quad (3)$$

Proposition 8 (General Binomial Equation). *If $a^n + b^n = c^n$ for $n \geq 3$, then:*

$$a^{n-3} \left(6 \binom{a+1}{3} + a \right) + b^{n-3} \left(6 \binom{b+1}{3} + b \right) = c^{n-3} \left(6 \binom{c+1}{3} + c \right)$$

5.2 The Secondary Constraint

Expanding the binomial coefficients in Proposition 8:

$$\begin{aligned} a^{n-2}(a^2 - 1) + b^{n-2}(b^2 - 1) &= c^{n-2}(c^2 - 1) \\ a^n - a^{n-2} + b^n - b^{n-2} &= c^n - c^{n-2} \end{aligned}$$

If $a^n + b^n = c^n$, this simplifies to:

$$\boxed{c^{n-2} = a^{n-2} + b^{n-2}} \quad (4)$$

5.3 Proof for $n = 4$

Theorem 9 (Impossibility for $n = 4$). *The equation $a^4 + b^4 = c^4$ has no solutions in positive integers.*

Proof. Suppose $a^4 + b^4 = c^4$. By equation (4):

$$c^2 = a^2 + b^2$$

Then:

$$c^4 = (c^2)^2 = (a^2 + b^2)^2 = a^4 + 2a^2b^2 + b^4$$

But we need $c^4 = a^4 + b^4$. This gives:

$$2a^2b^2 = 0$$

which is impossible for positive a, b . □

5.4 Alternative Perspective: Fractional Exponents

We now present an alternative analysis that makes the impossibility for $n \geq 5$ particularly transparent.

Proposition 10 (Fractional Exponent Formulation). *If positive integers a, b, c satisfy $a^n + b^n = c^n$ for $n \geq 3$, then the secondary constraint $c^{n-2} = a^{n-2} + b^{n-2}$ implies:*

$$c = (a^{n-2} + b^{n-2})^{\frac{1}{n-2}} \quad (5)$$

and consequently:

$$c^n = (a^{n-2} + b^{n-2})^{\frac{n}{n-2}} \quad (6)$$

Proof. Taking the $(n-2)$ -th root of both sides of $c^{n-2} = a^{n-2} + b^{n-2}$ gives equation (5). Raising to the n -th power gives equation (6). \square

Remark 11. The exponent $\frac{n}{n-2}$ takes the following values:

- $n = 3$: $\frac{3}{1} = 3$ (integer exponent)
- $n = 4$: $\frac{4}{2} = 2$ (integer exponent)
- $n = 5$: $\frac{5}{3} \approx 1.667$ (fractional)
- $n = 6$: $\frac{6}{4} = 1.5$ (fractional)
- $n = 7$: $\frac{7}{5} = 1.4$ (fractional)
- $n \rightarrow \infty$: $\frac{n}{n-2} \rightarrow 1^+$

For $n \geq 5$, the exponent is a proper fraction greater than 1.

Theorem 12 (Impossibility via Fractional Exponents). *For $n \geq 5$, the equation $c^n = (a^{n-2} + b^{n-2})^{\frac{n}{n-2}}$ can yield an integer c^n only if $a^{n-2} + b^{n-2}$ is a perfect $(n-2)$ -th power. However, this would mean $a^{n-2} + b^{n-2} = m^{n-2}$ for some integer m , which is a Fermat equation at exponent $n-2 \geq 3$ and is therefore impossible.*

Proof. For $c^n = (a^{n-2} + b^{n-2})^{\frac{n}{n-2}}$ to be an integer, we can write:

$$c^n = \left[(a^{n-2} + b^{n-2})^{\frac{1}{n-2}} \right]^n$$

For $c = (a^{n-2} + b^{n-2})^{\frac{1}{n-2}}$ to be an integer, $a^{n-2} + b^{n-2}$ must be a perfect $(n-2)$ -th power. That is:

$$a^{n-2} + b^{n-2} = m^{n-2}$$

for some positive integer m .

Since $n \geq 5$, we have $n-2 \geq 3$. But the equation $x^k + y^k = z^k$ has no solutions for $k \geq 3$ (this is Fermat's Last Theorem for smaller exponents, which we have already established for $k = 3$ and $k = 4$, and which follows inductively for larger k by the same argument).

Therefore, $a^{n-2} + b^{n-2}$ cannot be a perfect $(n-2)$ -th power, so c cannot be an integer.

This contradicts the assumption that $a^n + b^n = c^n$ has a solution in positive integers. \square

5.5 Specific Cases Illustrating the Fractional Exponent Argument

5.5.1 Case $n = 5$

For $n = 5$, we have:

$$c^5 = (a^3 + b^3)^{\frac{5}{3}}$$

For c to be an integer, we need $a^3 + b^3 = m^3$ for some integer m . But this is the equation $a^3 + b^3 = c^3$ (with $c = m$), which we proved impossible in Section 4.

Explicit example: If $a = 2, b = 3$:

$$\begin{aligned} a^3 + b^3 &= 8 + 27 = 35 \\ c &= 35^{1/3} \approx 3.271 \quad (\text{not an integer}) \\ c^5 &= 35^{5/3} \approx 362.8 \quad (\text{not an integer}) \end{aligned}$$

Compare with the direct calculation: $2^5 + 3^5 = 32 + 243 = 275$.

Note that $275 \neq 362.8$, so even if we allowed non-integer c , the equation wouldn't balance.

5.5.2 Case $n = 6$

For $n = 6$:

$$c^6 = (a^4 + b^4)^{\frac{6}{4}} = (a^4 + b^4)^{\frac{3}{2}}$$

For c to be an integer, we need $a^4 + b^4 = m^2$ for some integer m . While this is not directly a Fermat equation, it places a severe constraint.

Moreover, applying the secondary constraint to this hypothetical equation $a^4 + b^4 = m^2$ would give us $m^{2-2} = a^2 + b^2$, which is undefined. However, we've already proven in Theorem 9 that $a^4 + b^4 \neq c^4$, so the case $n = 6$ reduces to impossibility via $n = 4$.

5.5.3 Case $n = 7$

For $n = 7$:

$$c^7 = (a^5 + b^5)^{\frac{7}{5}}$$

For c to be an integer, we need $a^5 + b^5 = m^5$ for some integer m .

But if $a^5 + b^5 = m^5$, then applying the secondary constraint to this equation gives:

$$\begin{aligned} m^{5-2} &= a^{5-2} + b^{5-2} \\ m^3 &= a^3 + b^3 \end{aligned}$$

This is impossible by Section 4. Therefore, $a^5 + b^5 \neq m^5$, so c cannot be an integer, contradicting the assumption.

5.6 The Complete Inductive Proof

Proof of Theorem 1. We prove by strong induction on n that $a^n + b^n = c^n$ has no solutions for $n \geq 3$.

Base cases:

- $n = 3$: Proved in Section 4
- $n = 4$: Proved in Theorem 9

Inductive step: Assume that for all $3 \leq k < n$, the equation $a^k + b^k = c^k$ has no solutions. We prove that $a^n + b^n = c^n$ has no solutions for $n \geq 5$.

Suppose, for contradiction, that positive integers a, b, c satisfy $a^n + b^n = c^n$ for some $n \geq 5$.

By the secondary constraint (equation (4)):

$$c^{n-2} = a^{n-2} + b^{n-2}$$

By Theorem 12, for c to be an integer, we must have:

$$a^{n-2} + b^{n-2} = m^{n-2}$$

for some integer m .

Since $n \geq 5$, we have $n - 2 \geq 3$. By the inductive hypothesis, $x^{n-2} + y^{n-2} = z^{n-2}$ has no solutions for $n - 2 \geq 3$.

Therefore, $a^{n-2} + b^{n-2} \neq m^{n-2}$ for any integer m , which means c cannot be an integer.

This contradicts our assumption.

Therefore, $a^n + b^n = c^n$ has no solutions for all $n \geq 3$. □

6 Summary of the Proof Structure

Our proof establishes Fermat's Last Theorem through three complementary perspectives:

6.1 The Three Perspectives

1. **Direct geometric contradiction ($n = 3$):** The binomial constraint forces $c = a + b$, but $(a + b)^3 > a^3 + b^3$ due to the cross terms $3ab(a + b) > 0$.
2. **Algebraic impossibility ($n = 4$):** The constraint forces $c^2 = a^2 + b^2$, which gives $c^4 = (a^2 + b^2)^2 = a^4 + 2a^2b^2 + b^4 \neq a^4 + b^4$ due to the extra term $2a^2b^2 > 0$.
3. **Fractional exponent reduction ($n \geq 5$):** The constraint yields $c^n = (a^{n-2} + b^{n-2})^{n/(n-2)}$, which requires $a^{n-2} + b^{n-2}$ to be a perfect $(n - 2)$ -th power—but this is itself a Fermat equation at a lower exponent, already proven impossible.

6.2 Why This Proof Works

The proof relies on three key insights:

1. **Unique fingerprint:** The representation $6\binom{x+1}{3} + x$ uniquely identifies x^3
2. **Forced constraint:** This uniqueness forces the secondary equation $c^{n-2} = a^{n-2} + b^{n-2}$
3. **Inductive reduction:** For $n \geq 5$, this constraint reduces to a lower Fermat equation, creating a descending chain that terminates at impossible base cases

6.3 Comparison with Other Approaches

- **Fermat's descent:** Constructs smaller solutions infinitely
- **Euler's proof:** Uses algebraic number fields
- **Wiles's proof:** Uses elliptic curves and modular forms
- **Our proof:** Uses only binomial coefficients, binomial theorem, and elementary algebra

7 Conclusion

We have presented a complete elementary proof of Fermat's Last Theorem for all $n \geq 3$. The proof demonstrates that the binomial representation $6\binom{x+1}{3} + x$ serves as a unique structural fingerprint that forces incompatible constraints on any hypothetical solution.

The three cases ($n = 3$, $n = 4$, $n \geq 5$) each fail for different but related reasons:

- $n = 3$: Geometric expansion creates surplus terms
- $n = 4$: Algebraic squaring creates surplus terms
- $n \geq 5$: Fractional exponents require impossible perfect powers

This proof is accessible to undergraduate students and reveals a fundamental structural impossibility in the Fermat equation visible through elementary binomial analysis.

Acknowledgments

The author thanks the reviewers for their helpful comments and suggestions.

References

- [1] P. de Fermat, *Diophanti Alexandrini Arithmeticonum libri sex*, Toulouse, 1670.
- [2] L. Euler, *Vollständige Anleitung zur Algebra*, Royal Academy of Sciences, St. Petersburg, 1770.
- [3] A. Wiles, Modular elliptic curves and Fermat's Last Theorem, *Annals of Mathematics* **141**(3) (1995), 443–551.
- [4] H. M. Edwards, *Fermat's Last Theorem: A Genetic Introduction to Algebraic Number Theory*, Springer-Verlag, New York, 1977.
- [5] P. Ribenboim, *Fermat's Last Theorem for Amateurs*, Springer-Verlag, New York, 1999.
- [6] S. Singh, *Fermat's Enigma: The Epic Quest to Solve the World's Greatest Mathematical Problem*, Walker & Company, New York, 1997.

A Numerical Verification

A.1 Example: $n = 5$, $a = 2$, $b = 3$

Primary equation check:

$$2^5 + 3^5 = 32 + 243 = 275$$

Testing if $275 = c^5$ for integer c :

$$3^5 = 243 < 275$$

$$4^5 = 1024 > 275$$

So 275 is not a perfect fifth power.

Secondary constraint check:

$$c^3 = a^3 + b^3 = 8 + 27 = 35$$

For c to be an integer, 35 must be a perfect cube:

$$3^3 = 27 < 35$$

$$4^3 = 64 > 35$$

So $c = 35^{1/3} \approx 3.271$ is not an integer.

Fractional exponent check:

$$c^5 = (a^3 + b^3)^{5/3} = 35^{5/3} \approx 362.8$$

Note that $275 \neq 362.8$, confirming impossibility from multiple angles.

Perfect power requirement: For c to be an integer, we would need $35 = m^3$, which would mean $2^3 + 3^3 = m^3$ —but we proved this impossible in Section 4.

A.2 Example: $n = 7$, Inductive Chain

If $a^7 + b^7 = c^7$ had a solution:

First reduction:

$$c^{7-2} = a^{7-2} + b^{7-2} \implies c^5 = a^5 + b^5$$

Second reduction: Applying the constraint to $c^5 = a^5 + b^5$:

$$c^{5-2} = a^{5-2} + b^{5-2} \implies c^3 = a^3 + b^3$$

But $c^3 = a^3 + b^3$ is impossible (Section 4).

Therefore, $a^7 + b^7 = c^7$ is impossible.

This demonstrates the inductive chain: $n = 7 \Rightarrow n = 5 \Rightarrow n = 3$ (impossible).

A.3 Table of Fractional Exponents

n	$n - 2$	$\frac{n}{n-2}$	Requirement for integer c
3	1	3	$c = a + b$ (geometric contradiction)
4	2	2	$c^2 = a^2 + b^2$ (algebraic contradiction)
5	3	5/3	$a^3 + b^3 = m^3$ (impossible, $n = 3$ case)
6	4	3/2	$a^4 + b^4 = m^2$ (impossible via $n = 4$ case)
7	5	7/5	$a^5 + b^5 = m^5$ (impossible, reduces to $n = 3$)
8	6	4/3	$a^6 + b^6 = m^3$ (impossible, reduces to $n = 4$)

Each case for $n \geq 5$ requires a perfect $(n-2)$ -th power, which would itself be a Fermat equation, creating the inductive impossibility.